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1.4.B4a
Necht’ % je relace mezi množinami A a B; necht’ σi je relace mezi množinami B a C pro každé i ∈ I
(kde I 6= ∅ je nějaká indexová množina).
Dokažte, že:

(
⋃
i∈I

σi) ◦ % =
⋃
i∈I

(σi ◦ %)

Pozn:
% ⊆ A×B, σ ⊆ B × C, a ∈ A, c ∈ C

Důkaz:
"⊆"

(a, c) ∈ [(
⋃
i∈I

σi) ◦ %]⇒ ∃b ∈ B : (a, b) ∈ %∧ (b, c) ∈ (
⋃
i∈I

σi)⇒ (a, b) ∈ %∧ ∃i0 ∈ I : (b, c) ∈ σi0

⇒ (a, c) ∈ (σi0 ◦ %)⇒ (a, c) ∈ [
⋃
i∈I

(σi ◦ %)]

"⊇"

(a, c) ∈ [
⋃
i∈I

(σi ◦ %)]⇒ ∃i0 ∈ I : (a, c) ∈ (σi0 ◦ %)⇒ ∃b ∈ B : (a, b) ∈ % ∧ (b, c) ∈ σi0

⇒ (a, b) ∈ % ∧ (b, c) ∈ (
⋃
i∈I

σi)⇒ (a, c) ∈ [(
⋃
i∈I

σi) ◦ %]

c.b.d.


